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A bakery is selling donuts and muffins.  
· Let x be the number of donuts sold
	Words
	Equations


	They sell at least three times as many donuts as muffins.
	

	They sell a maximum of 150 donuts.
	

	They sell no more than three more donuts than muffins.
	

	They sell fewer donuts than muffins.
	

	They sell at least 150 donuts.
	

	They sell a maximum of half as many muffins as donuts.
	

	They sell at least 150 muffins.
	

	They sell a maximum of half as many donuts as muffins.
	

	They sell fewer muffins than donuts.
	

	They sell at least three times as many muffins as donuts.
	

	They sell a maximum of 150 muffins.
	

	The sell no more than three more muffins than donuts.
	

	Write your own
	Write in your answer

	Write your own
	Write in your answer


· Let y be the number of muffins sold


	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	





